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Practice questions : 

1. Define integers. Plot 7 , -5 and 0 on number line. 

2. Fill in the blanks : 

a) 12 + ...... = 7 

b) -57  + 8 = ........

3. State true or false : 

a ) -7 > 8 .

b ) 12 - 15 =  -3 

4. Verify commutative property of addition of integers using 65 and -78 as integers.

5. Write additive inverse of 

a) -67.          b ) 23 

6. Write additive identity of -9 .

7. Which integer is its own additive identity? 

8. Give example of two negative integers whose sum is -14 .

9. Fill in the blanks and write the property used in each of the following. 

a) 0 + ( - 13) = ( -13) + .........

b ) 97 × ( -34) = ........× 99

10. Write down the pair of positive integers whose sum is 10.

11. Write down the pair of negative integers whose difference is  -5 .

12. Evaluate using distributive property : 

345 × 54

13. Give a counterexample to justify that division is not commutative for integers.

14. State true or false . If the statement are correct,  then state the property used .

a) 0 × 14 = 14 × 0 

b ) 0 ÷ 35 = 35 ÷ 0 

15. State the associative property of multiplication for integers taking a , b , c as any three integers. 

16. Fill in the blanks : 

a) 235 × 4 × 25 = 235 × ........ = ...........

b ) 597 × 35 = ( 600 - ......) × 35 

17. Evaluate : 

10 + [ 23 - 56 + { 34 -67 } -56 ] 

18. Evaluate using BODMAS :

50 × ( -5) + 540 ÷ [ 100 - { 80 - ( 20 × 2 ) } ] .

19.  The difference of two integers a and b is 45. If a is -77 , find b .

20. Evaluate :

a)  476× ( -253 )

b) 1032 ÷ ( -24) 

21.  Evaluate using properties of multiplication :

a) ( -59) × ( -103) 

b) (- 1) × ( -1 ) × ( -1 ) × ( -1) × ( -1 ) × 678 

22.  Choose pair of two negative  integers whose difference is  -15 .

23. The distance above the ground is represented by positive integers and the distance below the ground by negative integers.  An elevator begins to descend from 15 m above the ground at a rate of 5 m per second. What will be its position after 45 seconds ?

24.  Seema had a tin containing 100 toffees. Reena came and ate a few toffees. Seema bought 20 more and put them in the tin . If the tin now has 92 toffees , how many toffees did Reena eat ?

25. A certain freezing process requires that room temperature be lowered from 40 C at a rate of 5 C at every hour . Find the room temperature 10 hours after the freezing process begins.

MIND GAMES :

a)   In a certain language   ' +' is written as '# '  ,  ' - ' is written as ' & ' , ' ×'  is written as '$ 'and ' ÷ ' is written as'  ! '   . Then find  63 ! 7 & 5 # 67 $ 2. 

b) Pointing to a man Ritu said , " He is the only son of my mother's husband ." How is boy related to Ritu .

